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HOT Topic Poirier

MAT1575-F22-Poirier-D030

Assignment Weekly HOT Topic due 08/29/2022 at 05:25pm EDT

Problem 1. (1 point)
Determine whether the integral is divergent or convergent. Il it is
convergent, evaluate it. If it is divergent, enter “divergent.”
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Problem 2. (1 peint)
Determine whether the following series converges or diverges. In
your written work, state any convergence tests you used to deter-

mine your answer.
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The series
e converges

¢ diverges

Problem 6. (1 point)

Find the volume of the solid obtained by rotating the regzion
bounded by the graphs of y = 14 — x,y = 3r 4 10, xr = —3 about
the x-axis,

Volume =

Problem 3. (1 point)
Evaluate the indefinite integral.
/- 42 174+ 18
= s—dx =
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Problem 4 (1 point)
Find the area of the region enclosed by the graphs of y = % +
—Ory—=Fx43—

Areca=_ ___

Problem 5. (1 point)

Find the center, radius of convergence and interval of convergence
. o (1) ()"

for the power series ,.gr T

Center: x=
Radius of Convergence:
Interval of Convergence (use interval notation):
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Problem 7. (1 point)
Evaluate the indefinite integral:

/xz In(x)dx =

Problem 8. (1 point)
Evaluate the definite integral:

f' “x(3—2) dx=
0

Problem 9. (1 point)

Dctermine whether the following series converges absolutely,
converges conditionally, or diverges. In your written work, state
any convergence tests you used to determine your answer.
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The series

\o}onvcrgcs absolutely

e converges conditionally

e diverges

Problem 10. (1 point)
Find the Taylor polynomial of degree 3 for the function f(x) =
e % centered ata = -2,

B =

Problem 11, (1 point)
Evaluate the indefinite integral:

Va2 =36
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